N = 0l & At & Ml A

202045 £F 33 HFEALYSEIN M
SN AGHEED
HM: 52X0 2UZ HOLE SEHNA
C9l: 9122 DIMY(METALSHIN) (M+EALSHIA) (el @ e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
] 18,359,519 18,336,988 22,531
2 3,075,000 3,075,000 0
= 3,070,000 3,070,000 0
2 12,214,519 12,191,988 22,531
SENO BRIZ Mo4EE FENA 18,359,519 18,336,988 22,531
= 3,075,000 3,075,000 0
= 3,070,000 3,070,000 0
= 12,214,519 12,191,988 22,531
USS TIMY(MLCALSHIN) (H+EAYSE 18,359,519 18,336,988 22,531
&l )
2 3,075,000 3,075,000 0
< 3,070,000 3,070,000 0
2 12,214,519 12,191,988 22,531
AMUMLE ZHPY HAIAY 2,432,342 2,382,342 50,000
401 Al HI L 2 THHI 2,432,342 2,382,342 50,000
01 Al tl 2,424,000 2,374,000 50,000
OYAUMNLE 247 HIAY 2,424,000 2,374,000 50,000
Ham sl 1,254,526 1,300,526 46,000
201 Yot Y| 610,066 630,066 20,000
02 ZZ 2| 591,516 611,516 20,000
ozzaez %2 MA 447,516 467,516 £20,000
—FHamMAANE BB (2H4)
380, 000,000% 1 380,000 400,000 £20,000
207 &N et 24,000 50,000 226,000
01 &R 24,000 50,000 126,000
Ou+a T2 A +8(2R) 24,000 50,000 26,000
Yoz sz 1,846,432 1,820,432 26,000
206 i 2 b 79,340 95,340 16,000
01 ME bl 79,340 95,340 16,000
Ot ZH 41,840 51,840 £10,000
—SOIDAIA BBANEE AEDY(TE 5,000 15,000 A10,000
OB bl 37,500 43,500 26,000
- HAT YAAN Y 0 6,000 6,000
401 Al HI YL =2 THYI 1,583,234 1,534,234 49,000
01 Al 1,579,000 1,530,000 49,000
OBFHLE YAMNH &L Sl HAAL 770,000 865,000 95,000
OLAF4AT A& LAY 219,000 515,000 296,000
O%ZHZI L ALY &5 A 180,000 0 180,000
ODF b 4X HEFHIAIE ZXAY 260,000 0 260,000
405 X4 F S| 48,000 55,000 AT7,000
01 ML SEF S| 48,000 55,000 A7,000
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